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Arrays

An array is a data structure that contains a group of elements. Typically these elements are all of

the same data type, such as an integer or string.
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Arrays Types
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1.
2.
3.
4.

Basic Operations

Traverse — Print all the array elements one by one.
Insertion — Adds an element at the given index.

Deletion — Deletes an element at the given index.

Search — Searches an element using the given index or by
the value.

Update — Updates an element at the given index.
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Traverse Operation

arr[o]
arr[1]

arr[2]

arr|3]

arr(4]

#include <stdio.h>
main()

{

int LA[] = {1,3,5,7,8};

intn=5; The original array elements are :
printf("The original array elements are :\n"); LA[0] =1
Eor(i = 0; I<n; i++) LA[L] = 3
printf("LA[%d] = %d \n", i, LA[i]); LA[2] =5
} LA[3] =7
LA[4] =8
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int LA[] ={2,4,1,7},item =10,k =3, n = 4;
inti=0,j=n;
n=n+1;
while( j >=K)
{

LA[j+1] = LA[j];
j=j-1
b
LA[K] = item;
printf("The array elements after insertion :\n");

for(i=0;i<n; i++) {
printf("LA[%d] = %d \n", i, LA[i]);
¥

Insertion Operation
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The original array elements are :

LA[0] =2

LA[1] =4 [nsert element in an array
LA[2] =1 Element to be insert

LA[3] =7 ;

original st || EHIENIER
v EA NN

\

The array elements after insertion :
LA[0] =2

LA[1] =4

LA[2] =1

LA[3] =10

LA[4] =7




Deletion Operation
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1. Start
2.5etJ =K
3. Repeat steps 4 and 5 while J <N

4. Set LA = LAD +1 Original lst

5.5etJ=J+1

6. Set N = N-1
7. Stop Delete element

The array elements after deletion :

Delete element from an array

LA[0] = 2
LA[1] = 4 DleweLs
LA[2] = 1
LA[3] = 7
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Searching Operation

1 Start
2.SetJ=0
3. Repeat steps 4 and 5 while J < N Sequential Search
4. IF LA[J] is equal ITEM THEN GOTO STEP 6
5. SetJ=J+1 e . 0 1 4 8 4
6. PRINT J. ITEM The original array elements are : Value: 20 |40 | 10 | 30 | 60
7. Stop LA[0] =20 Target = 30
Step 1: Compare 30 with value at index 0
LA[1] =40 Step 2: Compare 30 with value at index 1

Step 3: Compare 30 with value at index 2

LA[2] = 10 Step 4: Compare 30 with value at index 3 (success)

LA[3] = 30
LA[4] = 60

Found element 30 at position 3
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1. Start
2. Set LA[K-1] = ITEM
3. Stop

Update Operation

The original array elements are :
LA[O] =1

LA[1] =3

LA[2] =5

LA[3] =7

LA[4] =8

The array elements after updation :
LA[O] =1

LA[1] =3

LA[2] =10

LA[3] =7

LA[4] =8
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ig;j;} Assessment
Usually, the index for the first element of an array is ?
a) 0
b) 1
¢) 2 What will be the output of this following program?
dy -1 main()

{ printf(“I MCA");

What is right way to Initialize array? main();}
A.intnum[6]={2,4,12,5,45,5}; A. 1t will keep on Print | MCA once
B.intn{}={2,4,12,5,45,5}; B. It will Print | MCA once
C.intn{6}={2,4,12}; C. Wrong statement
D.intn(6)={2,4,12,5,45,5}; D. None of the these
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